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(c) Calculate the following variances for August 2019.

(i) Material price.

(3)

(ii) Material usage.

(iii) Labour rate.

(3)
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(d) Prepare the Profit Reconciliation Statement using the variances calculated in (c).
(5)

PROFIT RECONCILIATION STATEMENT FOR AUGUST 2019 S

Standard profit for actual production 116 280

Favourable Adverse

$ $

Variances

Direct materials price

Direct materials usage

Direct labour rate

Direct labour efficiency

Fixed overhead expenditure

Total variance

Actual profit for actual production

Workings
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(i) Administrative overheads per bus trip.

DO NOT WRITE IN THIS AREA

(b) Explain one reason why the company uses predetermined overhead absorption
rates.
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(2)

(c) Explain one reason why:

(i) operational overheads are being absorbed on the basis of km travelled
(1)
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(e) Evaluate Umbriel Ltd’s recovery of overheads for the six months January to June
2019.
(6)

Positive factors

Negative factors

Conclusion

(Total for Question 2 = 20 marks)
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Hyperion Ltd also uses raw material R55

Information is available for R55

« R55 costs $6.75 per kg.

«  Hyperion Ltd uses 3 600 kg per year.

« The cost of placing an order is $500

« The holding cost of 1 kg of R55 for a year is $2.50

(b) Calculate the Economic Order Quantity (EOQ) for R55, showing clearly the
formula used.
(4)

(c) Identify two possible holding costs that Hyperion Ltd may incur.

\. J
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(iii) total revenue required to achieve a profit of $90 000

(iv) total margin of safety in both $ and as a percentage of sales

(3)

(v) profit or loss for October 2019.

J
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The company has been approached by a new overseas customer who is willing to
purchase 6 000 units per month at a price of $9.95 per unit.

This would be in addition to the 36 000 units currently being produced and sold.

(b) Calculate the total profit or loss that Lupus Ltd would make if the offer from the
new overseas customer to buy 6 000 units per month was accepted.

(c) Explain, giving one reason, whether Lupus Ltd should accept the offer from the
overseas customer.
(2)

21

AR L AL S Turn over »
P 6 4 5 6 0 R A0 2 1 2 4



VIUSIHLNEILIYM ION.Od YIUY SIHENEZLIHMNLON:OC

DO NOTWRITE IN:-THIS:AREA DONOTWRITEINTHIS AREA

YIHY SIHENEI LA LON-Od

DONOTWRITEIN-THIS AREA

wn
7)) b
=<
S
c
—
N piy
= D
Il e
| = oc
o w
[o
H v

m L1 @ m
ml!._u (9 -

— D
Y o S "
RO O =) b=
2 = 1=
©
(] oy o ==
D 1= )

ol 1Y Ll st
)

L

@
< o
+ a
S
o2
o |
e
o |9
c
© e
<
2l 1o

> %

L
© -

S
(O]

S
[e] =l
e
© -

D
hd
o 5
() q
Q |lc

A L o <
=~ i - e
A O v 3
[ < hui + =
7y = puy Y L,

..Q..; © p=1 = a
(@) ==t C -

) — A,
<< <

5 6 0 R A0 2 2 2 4

4

P 6

22




4l

RN

l \,',;

QXXX
0.:’0.

00 %%
<
XY

SRE

BLANK PAGE

P 6 4 5 6 0 R A0 2 3 2 4

23




BLANK PAGE

KR

vadySIHLNIILYMIONOG

FalmioNod

pototet e o tetetetetetetetetotetet

QRRRRRRRKK



